[ Efficiency vs vertpos |
s 01
£ 0.09
g
5.0.08
8}

30.07
o

$0.06
0.05
0.04
0.03
0.02
0.01

LAY LLAL RARLEN

1.0

Ratio

103

0.95L :
1072 101 1 10 0?
TP vertr (cr%)

IC{HP Szd..n{vmu. +6p0evt
ﬁs %%igﬁ 1RO TLIERS 1000evt

—ehoC

11111

Efficiend —— %g

0.8

N -

U S O T S S

[ F . . . . .

z n : : : : :

& 0.6F------ R SEEE e e EELREED e

c F : : : : :

2 o : : : : :

R FLESF SRR S IS S

@ F : : : : :
i ARSI S S S
SR s o
0

R Fovee ey s e

Ratio

i
T

993520 -10 0 10 20 30
TP vert z (cm)

~ 05
> : : : : : : :

e R S s S s
1 O S O S W
Bosg b

s Sim.

.................................................

eff|C|ency
=]
w
I

= ==

o
N
I
K

CRTSSS S S
0.1 : ' : i ;
0.05

Ratio

3 B : : - SEPEY EREPE

T
i

T TT
*
r
L

0%55"15-10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


